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CHel: NIgAY 2= CHe & A
M- S2A(SH) - MRAL =

orormd 237,419 229,685 7,734
Fezte 11,781 9,781 2,000
XgMe 22 7,012 5,012 2,000
XNgA g =20 =X 2,000 0 2,000
201 LEr2HH| 800 0 800
01 AtR22/H 800 0 800
Oet42Y| 800 0 800
—HEDXNMLBAZIMMEL HE2E 7Y 509! = 16,00004 800 0 800
202 OfHl 1,200 0 1,200
01 =2LH0idl 1,200 0 1,200
O=2W 0| 1,200 0 1,200
— 204 50,000 * 29 * 4 « 3 1,200 0 1,200
ZAEIH2H 5,514 4,160 1,354
Trrzke 5,514 4,160 1,354
ZaXE A 22 5,514 4,160 1,354
201 ety 5,514 4,160 1,354
02 Z2329H 5,514 4,160 1,354
02283 2 MAl 5,514 4,160 1,354
—A832 USREU L JH SXH(ZS 1,902 * 2,660 ¢ ) A 5,054,0002 5,054 3,700 1,354
e PSEe] 14,810 10,430 4,380
HApe 14,810 10,430 4,380
MEMY I Hel2d 14,810 10,430 4,380
201 Lty 13,010 8,630 4,380
02 Z32gH 11,300 6,920 4,380
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O3323 % A 11,300 6,920 4,380
—dAXE S8l 460,0008 « 10H = 128 825,000& * 1CH = 12& 9,900 5,520 4,380




